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 Diff02 Answers for No.9602
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.1 ( )( )f' x 8 x 1
.2 ( )( )f' x 12 x2

.3








( )f' x 

4

x2

.4








( )f' x

1

x
( )2 3
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

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.1 ( )( )f' 4 144
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
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( )f' 1
7
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.2 [ ]( )f' 2 1380
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
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.1 ( )( )f' x 8 x 1 .2 ( )( )f' x 12 x2

.3 ( )( )f' x   21 x6 8 x3 3 x2 8 x .4






( )f' x 

10
3

x3
2
3

x

.5








( )f' x  5

1

2 x

1

x
( )3 2 .6











( )f' x   

1

3 x
( )2 3

2

3 x
( )5 3

3 x
2

2

3 x
( )1 3

.7 ( )( )f' x   27 x2 10 x 6 8 x3 .8








( )f' x

 3 x 1 6 x

2 x

.9








( )f' x 
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( )4 x 5 2 .10




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



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( )3 2

( )2 9 x2
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.11








( )f' x

  10 x6 8 x4 15 x2 20

x6
.12






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, , , ,  Ans1





















.1 ( )( )f' x 8 x 5
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.3 ( )( )f' x   18 x5 5 x4 9 x2 1 .4






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







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  6 x4 15 x3 2 x 20

x3
.12








( )f' x
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.3 ( )( )f' x  5 x4 8 x3 1 .4
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.3 ( )( )f' x   10 x4 20 x3 9 x2 8 x .4

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







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  5 x6 5 x4 9 x2 15

x6
.12








( )f' x

  10 x6 28 x5 x4 24 x3

( )x 2 2
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.2 ( )( )f' 1 -10         Ans4 








.1 [ ]( )f' 4 3
.2 [ ]( )f' 2 571

, ,  Ans3











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










.1 ( )( )f' x 10 x 3 .2 ( )( )f' x 12 x2

.3 ( )( )f' x   18 x5 3 x2 8 x 1 .4






( )f' x 

8 x
3

4
5

.5








( )f' x   

2

x
( )3 2

3

2 x
4 .6









( )f' x   

1

5 x
( )4 5

1

5 x
( )6 5

2

5 x
( )7 5

2

5 x
( )3 5

.7 ( )( )f' x  15 x2 12 x 4 .8








( )f' x 

  3 x 3 2 x

2 x

.9








( )f' x 

23

( )5 x 3 2 .10










( )f' x

3 x 1

2 x
( )3 2

.11








( )f' x

  12 x2 46 x 30

x4
.12








( )f' x

  10 x3 59 x2 160 x 80

( )x 5 2

      











































:)
:(

































P
V
S
S
&

















































M
a
t
h
@
M
U
T
:)
:(

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6400506-00029XX
 Diff02 Answers for No.646105

, , , ,  Ans1




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













.1 ( )( )f' x 2 x 2
.2 ( )( )f' x 9 x2

.3








( )f' x 

6

x2

.4








( )f' x

1

x
( )2 3

        Ans2














.1 ( )( )f' 3 135

.2






( )f' -3
4
9
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













.1 [ ]( )f' 2 800

.2






( )f' 1
3
2

, ,  Ans3
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.1 ( )( )f' x 2 x 2 .2 ( )( )f' x 9 x2

.3 ( )( )f' x   24 x5 8 x3 9 x2 2 x .4






( )f' x  

12
5

x3
10
3

x
5
2

.5










( )f' x  

3

2 x
2

2

x
( )3 2 .6











( )f' x   
3

4 x
( )1 4

4 x
( )1 3

3
1

4 x
( )3 4

3

4 x
( )7 4

.7 ( )( )f' x  60 x2 36 x 11 .8








( )f' x

 3 x 10 x 1

2 x

.9








( )f' x

17

( )x 5 2 .10








( )f' x 

13 x7 4

2 x
( )3 2

.11








( )f' x

  4 x6 2 x5 15 x 20

x5
.12








( )f' x

  4 x5 2 x4 86 x3 60 x2

( )x 4 2
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, , , ,  Ans1
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.1 ( )( )f' x 4 x 1
.2 ( )( )f' x 6 x2

.3








( )f' x 

3

x2

.4








( )f' x

5

2 x

        Ans2
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











.1 ( )( )f' 5 450

.2






( )f' 3

-10
27

        Ans4














.1 [ ]( )f' -2 -268

.2






( )f' 4

51
16

, ,  Ans3
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



.1 ( )( )f' x 4 x 1 .2 ( )( )f' x 6 x2

.3 ( )( )f' x  12 x5 16 x3 6 x .4






( )f' x  

5
3

x4 2 x3
1
4

.5








( )f' x  4

1

2 x
( )3 2

3

2 x
.6










( )f' x   
6 x

( )1 5

5
1

6 x
( )7 6

5

6 x
( )11 6

5

6 x
( )1 6

.7 ( )( )f' x  12 x2 30 x 29 .8








( )f' x

 3 x 2 x 2

2 x

.9








( )f' x 

13

( )x 3 2 .10








( )f' x

9 x4 5

2 x

.11








( )f' x

  5 x5 20 x3 4 x2 32

x5
.12








( )f' x

  3 x4 29 x2 20 x

( )x 2 2
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, , , ,  Ans1
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.1 ( )( )f' x 8 x 2
.2 ( )( )f' x 12 x2

.3








( )f' x 

4

x2

.4








( )f' x

2

x

        Ans2 


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.1 ( )( )f' 4 192
.2 ( )( )f' -1 4         Ans4
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




.1 ( )( )f' x 10 x 1 .2 ( )( )f' x 15 x2

.3 ( )( )f' x  18 x5 4 x 5 .4






( )f' x  

5
4

x4
9
2

x2
5
4

.5








( )f' x   

1

2 x
( )3 2 2

5

2 x
.6










( )f' x   

1

3 x
( )2 3

3 x
2

1

3 x
( )4 3

2

3 x
( )5 3

.7 ( )( )f' x   48 x3 54 x2 44 x 8 .8








( )f' x 

  3 x 2 x 2

2 x

.9








( )f' x 

24

( )4 3 x 2 .10










( )f' x

3 x
( )3 2

( )6 x2 5
2

.11








( )f' x

   5 x4 10 x3 8 x 10

x6
.12








( )f' x

   15 x6 112 x5 125 x4 400 x3

( )x 4 2
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.1 ( )( )f' x 2 x 2
.2 ( )( )f' x 9 x2

.3








( )f' x 

2

x2

.4








( )f' x

4

3 x
( )2 3
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



.1 ( )( )f' 5 375
.2 ( )( )f' -2 1         Ans4
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











.1 [ ]( )f' -2 394

.2
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

( )f' 1
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.1 ( )( )f' x 2 x 2 .2 ( )( )f' x 9 x2

.3 ( )( )f' x   7 x6 9 x2 8 x 2 .4






( )f' x 

20
3

x3
4
5

x

.5










( )f' x  4

5

2 x

1

x
( )3 2 .6











( )f' x   
1

5 x
( )4 5

3

5 x
( )2 5

5 x
( )2 3

3
1

5 x
( )6 5

.7 ( )( )f' x   8 x3 12 x2 12 x 4 .8








( )f' x

 3 x 3 2 x

2 x

.9








( )f' x

15

( )x 3 2 .10








( )f' x

x
( )3 2

( )25 9 x2

2

.11








( )f' x

   15 x3 12 x2 15 x 8

x5
.12








( )f' x

  4 x3 x2 14 x 6

( )x 1 2
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, , , ,  Ans1
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.1 ( )( )f' x  3 4 x
.2 ( )( )f' x 15 x2

.3








( )f' x 

6

x2

.4








( )f' x

4

3 x
( )2 3

        Ans2














.1 ( )( )f' 5 450

.2






( )f' -2
5
4

        Ans4 







.1 [ ]( )f' 1 4
.2 [ ]( )f' -2 220

, ,  Ans3
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

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



.1 ( )( )f' x  3 4 x .2 ( )( )f' x 15 x2

.3 ( )( )f' x  5 x4 16 x3 6 x .4






( )f' x  

15
2

x4
3
2

x2
8
5

x

.5








( )f' x  1

1

x

2

x
( )3 2 .6













( )f' x   

4 x
( )1 3

3
3

4 x
( )7 4

1

4 x
( )5 4

1

4 x
( )3 4

.7 ( )( )f' x   16 x3 4 x 6 x2 5 .8








( )f' x 

  3 x 5 4 x

2 x

.9








( )f' x 

14

( )2 x 3 2 .10








( )f' x

25 x2 1

2 x

.11








( )f' x

   30 x3 15 x2 24 x 10

x6
.12








( )f' x

    20 x5 135 x4 240 x3 4 x2 24 x 48

( )x 3 2
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.1 ( )( )f' x 4 x 1 .2 ( )( )f' x 18 x2

.3 ( )( )f' x   30 x5 5 x4 10 x 2 .4






( )f' x 

10
3

x4
15
2

x2

.5








( )f' x  3

2

x

5

2 x
( )3 2 .6













( )f' x   

1

6 x
( )5 6

5

6 x
( )11 6

5

6 x
( )1 6

6 x
( )1 5

5

.7 ( )( )f' x   60 x3 45 x2 16 x 20 .8








( )f' x

 3 x 2 x 4

2 x

.9








( )f' x 
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( )5 x 2 2 .10






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( )f' x

1 39 x6

2 x

.11








( )f' x

  48 x8 20 x5 3 x3 20

x5
.12



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( )f' x

  4 x3 3 x2 60 x 50

( )x 2 2
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.1 ( )( )f' x 8 x 1
.2 ( )( )f' x 6 x2

.3
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( )f' x 

6

x2

.4








( )f' x

3

2 x
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.1 ( )( )f' 6 324
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( )f' 4

7
16

.2 [ ]( )f' -2 2236
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.1 ( )( )f' x 8 x 1 .2 ( )( )f' x 6 x2

.3 ( )( )f' x   35 x6 3 x2 6 x 4 .4






( )f' x 

10 x
3

2
5

.5








( )f' x   

5

2 x
( )3 2 2

5

2 x
.6








( )f' x    

1

3 x
( )4 3

1

3 x
( )2 3

2

3 x
( )1 3

2

3 x
( )5 3

.7 ( )( )f' x  64 x3 108 x2 25 .8








( )f' x 

  3 x 3 8 x

2 x

.9








( )f' x 

18

( )2 x 3 2 .10










( )f' x

x
( )7 2

( )65 x2 27
2

.11








( )f' x

   6 x4 16 x3 60 x 100

x6
.12



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
( )f' x

    12 x4 104 x3 177 x2 30 x 45

( )x 5 2
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.1 ( )( )f' x 8 x 5
.2 ( )( )f' x 9 x2

.3








( )f' x 

3

x2

.4
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
( )f' x

5

3 x
( )2 3
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.1 ( )( )f' 6 540
.2 ( )( )f' 2 -1         Ans4 
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.1 [ ]( )f' 1 3
.2 [ ]( )f' 2 956
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.1 ( )( )f' x 8 x 5 .2 ( )( )f' x 9 x2

.3 ( )( )f' x   14 x6 16 x3 15 x2 4 x .4






( )f' x  

5
4

x4
3
2

x
4
5

.5








( )f' x  5

3

2 x
( )3 2

1

2 x
.6








( )f' x    

3

4 x
( )7 4

1

4 x
( )3 4

1

4 x
( )5 4

3

4 x
( )1 4

.7 ( )( )f' x   40 x3 84 x2 36 x 4 .8








( )f' x 

  3 x 3 4 x

2 x

.9








( )f' x

18

( )5 x 3 2 .10



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


( )f' x

20 x3 1

2 x
( )3 2

.11








( )f' x

  8 x5 10 x3 8 x2 20

x5
.12
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


( )f' x

   15 x4 20 x3 58 x2 4 x 8

( )x 1 2
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